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IICI £ 4,440,000 4,772,000 7.5% 41,333,000 6.2% 53,909,000 5.9%
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2. EPERRE (M) 2 pEstEn"
(a) FHEEl 133,000 130,000 -2.5% 1,083,000 -4.8% 1,443,000 -2.5%
(b) ZEETE 228,000 216,000 -5.3% 1,911,000 -8.3% 2,496,000 -5.8%
(c) &H 361,000 346,000 -4.3% 2,994,000 -7.1% 3,939,000 -4.6%
3. eEE R e ®
(a) FE 22,411 24,075 7.4% 208,475 9.6% 274,305 10.3%
(b) E75Ef 4,658 4,470 -4.0% 39,215 -4.7% 51,260 0.0%
(c) &= B)3& 669 730 9.1% 6,195 22.9% 8,195 26.6%
(d) Fﬁiﬂ\ 27,738 29,275 5.5% 253,885 7.4% 333,760 8.9%
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